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L/ Consider the following statements :

./S't'atement-I : . '
There is n worsening securit
situation il tie Sahel region. Do

Statement-1I : UA~

Ahere have been military takeovers/cm.lps
détat in several countries of the Sahe region
in the recent past. ==

Which one of the following is correct in
respect of the above statements ?

,(aﬂ/f?»oth Statement-I and Statement-1I a.lre
_correct and Statement- explains

c

Statement-1 _

(b) Both Statement-I and Statement-1I are
correct, but Statement-II does not
explain Statement-I

(c) Statement-I is corréct, but Statement-II
is incorrect

(d) Statement-I is incorrect, but Statement-II
is correct

@ Consider the following_ statements :

\ﬂStatement-I :
India does not import apples from the United
States of America.
atement-II :

In India, the law prohibits the import of
netically Modified food |without the
approvalol the competent authdnty.

Which one of the following is correct in
respect of the above statements ?

(a) Both Statement-I and Statement-IT are

correct and  Statement-Il  explains
Statement-I

(b) Both Statement-I and Statement-II are

correct, but Statement-II does

- not explai
Statement-I *piain

(c) Statement-I is correct, but Statement-II is
incorrect

V

®

Speaker of the

3.~ With reference to the
Lok Sabha, consider the following statements :

While esolution for the removal of the
Speaker of the Lok Sabha is under
il oS

consideration .
L~ He/She shall not preside.*

X2. He/She shalave the right to speak. X

3. He/She shall e entitled to vote on
the resolution in the first instance. »”
_’—_’

Which of the statements given above is/are

correct ?
.,éa‘( 1 only
(b dendSonly
() Sand-Bonly
@

“+2amd 3

With reference to the ‘(Edianv Parh'ame@

consider the following statements :

L A bill pending in the Lok Sabha lapses
on its dissolution.
& A bill passed by the Lok Sabha and
pendingq; the Rajya Sabha (apse;)on
- the[dissolution of the Lok Sabha.
,"‘3. ‘A bill in regard to which the President

of India notified his/her intention to
e
summon the Houses to a joint sitting

lapses on the of the
Lok Sabha.

dissolution

Which of the statements given above is/are
. correct ? '

(a) 1only
|\_(b‘)/ 1 and 2 |

y(d‘)" _Statement-I is incorrect, but Statement-I
18 correct

KSPC-P-GSPO

(c)
(d)

Srand-3
Sonly-

(3-C)
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@ .

with reference to the Parliament of India,

consider the following statements :

71.

Prorogation of a House by the President
of Iridiéi'doefsi”nog require the advice of
the Council of Ministers.

Prorogation of a House is generally done
after the House is adjourned sine die
‘but there iar to the Pres.iderllt ef
India prorogating the House which is in

sess10n.
—-’l——'.

Dissolution of the Lok Sabha is done by
the President of India who, save in
exceptional circumstances, does so on
the advice of the Council of Ministers.

S

Which of the statements given above is/are
correct ? :

(a) Fomly

b) Send2—
Ay 2and3

(d) 3onlyde

Consider the following statements :

Statement-I :

+The European Parliament approved The
Net-Zero Industry Act recently. \

Statement-II : "~~~
The European Union intends to achieve
carbon neutrality by 2040 and therefore aims

to develop bf its own clean technology by
that time. T ——=

Which one of the following 'is correct in
respect of the above statements ?

(a) Both Statement-I and Statement-II are

correct and Statement-II

explain
Statement-I P s

(b) Both Statement-I and Statement-II are

correct, but Statement-II does not i
Statement-I explain

(c) Statement-I is correct, but Statement-IT is
incorrect

(d) Statement-I is incorrect, but Statement-II
1s correct

KSPC-P-GSPO (5-C)

\7./ Consider the following statements :

Statement-I :

' Recently, .V'enezuela has achieved a

recovery from its economic crisis and

‘succeeded in preventing _its" people from

ﬂeeing/emigrating to other countries.

Statement-II :

““enezuela has the world’s largest‘oil rese_rles.|

Which one of the following is correct in
respect of the above statements ?

(a) Both Statement-I and Statement-II are
correct and® Statement-II
Statement-I

(b) Both Statement-I and Statement-II are
correct, but Statement-II does not
explain Statement-I

explains

(¢) Statement-I is correct, but Statement-II
is incorrect

\_(&r Statement-I is incorrect, but Statement-II
1s correct

With reference to the Digital. India—Land
Records_Modernisation Programme, consider
the following statements :

1~ To implement the scheme, the Central
Government provides 100% funding.
_;:’

Under the Scheme, Cadastral Maps are
digitised. S T

27
)Q. An initiative has been undertaken to
transliterate the Records of Rights from
local language to f the languages
recognized by the Constitution of India.
Which of the statements given above are
correct ?

L$»” 1 and 2 only
(b) 2 and 8 only

() +end3enly
d 1,2and3

For Detailed Explanation Register Here


https://wa.aisensy.com/vF6bRr

a &

gq

18

o P S

_ Wwith reference to the ‘Pradhan Mantri
Surakshit Matritva Abhiyan’,
s/ following statements :

consider the

package of antenatal care services to
women in

post -delivery health care service i
" government health faclhty_A

2. Und‘e? ~ this

scheme, private sector
health care providers - of certain
specialities can to provide
services at nearby government health
facilities.
s ¥
Which of the statements given above is/are
{ correct ?
(@ 1lonly
i ® 2only
| (© Both1land2
(d) Neither 1 nor 2

; \,@/V‘Vith reference to the Pradhan Mantri Shram

Yogi Maan-dhan (PM-SYM) Yojana, consider
the following statements :

\)/ The entry age group for enrolment in
the scheme is 21 to 40 21 to 40 years.
t

Lﬁ/ Age specific contnbutlon . be made
:’ by the Beneﬁmary

)53,‘_ —Each subscriber under the scheme s
| receive a minimum pension ¢f T 3,000 )

Per _month after attaining the age of

&~ Family pension is ‘applicable to the
Spouse and unmarried daughters,

Which of the stabements
correct ?

(a) <, 3-end+4

[(b) -2-and3-eniy|
(© 2only

U 1,2 and 4

given above is/are

1. This scheme guarantees a ‘minimum)

\s"‘
Consider the followmg statements regarding
‘Nan Shakti Vandan Adhiniyam’ :

\)/ Provisions will come into effect from the
18" Lok Sabha.

" This will be in force foafter

becommg an Act, -

There are provisions for the reservation
of seats for Scheduled Castes Women
w1th1n the quota reserved for the

' Scheduled Castes. |
Whlch of the statements given above are
correct ?
g/%)’ 1,2 and 3
(b) 1and 2 only
() © 2and 3 only
(d 1and3only

{2/' Which of the following statements about

between‘ India and Bangladesh ‘

It commenced in Aund_h (Pune).

S
L3

Joint response during counter-terrorism
[ ————— by
operations was a goal of this operation.

)‘ LIndlan Air Forcé was™ a part of this
exercise. :

Select the answer using the code given below

b('(f‘ 1,2 and 8

(b)

KSPC-P-GSPO

L-B-and—d-
(©) “H8umdd
(d) 278-amd

(7-C)
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N A Wnt of Prohibition is an order issued by the\-@*With reference to Un Budget, consider the
: g Supl‘eme Court or ngh Courts to: @ following statements @
@ The Union Fina er on behalf of
i : , ' 1
- \da) a government officer prohibiting him the ‘P A Mlmsﬂl laysjythe jAnnua
M % ) Lo & Financial Statement before both the
from taking a particular actlg)}'l. o \VL « Houses of Parliament. G
‘ = ' +277 At the Union level, no demand for a grant
) the Parliament/Legislative Assembly to |, can DHe made except on the
! pass a law on Prohibition. - recommendation of the President of India.
L Which of the statements given above is/are
ug}/" the lower court prohibiting continuation correct ?
of proceedings in a cage. . +* (a) 1lonly
\ by 2only I N
(d the Government prohibiting it from (¢) Both1and?2
following an unconstitutional policy. (d) = Neither 1 nor 2
. 16~ Who of the @owing is the author of the books
il :
“The India Way” and “Why Bharat Matters” ? @
at
1\4}/ Consider the followmg statements P Bhupender Yadav
Y"\UL (b) Nalin Mehta %
w1l It is the Governor of the State who f)  Shashi Tharoorx
o recognizes and declares @éonﬁﬁunity l Md) Subrahmanyam Jaishankar “I
f , Fri - :
o that m\w- Monsider thefollowing pairs :
L% A community declared as.a,. Scheduled Country | Reason for being in the 7
. S T news
Tribe in a State need not be so in - -
T’.\other S‘tate‘ . J~ | Argentina Worst economic crisis
: T Cmw T W~ |Sudan War between the country’s
Which _?_f the Sfatements given above is/are regular army and \__—
correct ? pargn_uIMm forces [
T iy R LR
( ¥ r Rescmded its membership
2) —only N of NATO R -
R ST edactias
] &7~ 2 only oW many o € pairs given above are
correctly matched ?
(c) -Bothiands- . (8  Only one pair
IW Only two pairs I
(d) Neither 1 nor 2 () All three pairs
(d)

~ KSPC-P-GSPO

(9-C)

None of the pairs

For Detailed Explanation Register Here


https://wa.aisensy.com/vF6bRr

]® Consider the following statements :

&

Statement-I :

Persian Gulf oil and natural gas shipments to!
Europe.

Statement-II :

Sumed pipeline connects the Red Sea with
the Mediterranean Sea.

Which one of the followfng is correct in
respect of the above statements ?

(a) Both Statement-I and Statement-II are
correcc and Statement-II explains
Statement-I

(b) Both Statement-I and Statement-II are
correct, but Statement-II does not
explain Statement-I

(c) Statement-I is correct, but Statement-II
is incorrect

(d) Statement-I is incorrect, but Statement-II
is correct

. \
;@’ Consider the following statements : DESSE

V" The Red Sea receives :very little | .

precipitation in form.
*K2. water enters ,‘:IT Red Sea from
Tivers. & N
Which of the statements given above is/are
correct ?
L’ 1only A
(b) 2 only
() Both1land2
(d) Neither 1 nor 2

According to the Environmenta] Protection

&

Sumed pipeline is a strategic route for |

How many Delimitation Commissions have
been constituted by the Government of India

&

till %mber 20237 . @26 X
(a) One oo

b Two |hgYy —6)

(¢c) Three

(d) Four X

The Constitution (715 Amendment) Act, 1992
amends the Eighth Schedule to the
Constitution to include which of the following
languages ?

1~ Konkani v

\ 2~ Manipuri ¥

&

37 Nepali V™
4. Maithili 7(
Select the correct answer using the code given
below :

1 1,2 and 3
(b) ArZamdz”
(¢)  SBamdz

(@) ErSmmt

@* Consider the following pairs :
Party Its Leader
J'| Bharatiya Jana . |Dr. Shyama Prasad
Sangh Mukherjee "
#2. |Socialist Party C. Rajagopalachari ){
\
\_|3~1Congress for Jagjivan Ram
Democracy A\
44. | Swatantra Party’ A(harya Narendra
B v Dev R

Agency (EPA), which one of the following 75

the largest source of sulphur dioxide
emissions ? .
(@)  Locomotives using fossil fuels X

(b)  Ships using fossil fuels X
()  Extraction of metals from ores"
" Power plants us

ing fossil fuels v

How many of the above are correctly
" matched ?

(a) - Only one
by Only two
()

|

Only three

S ——

KSPC-P-GSPO 7 hEMALZE )

(d) Al four
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%3,/ Which one of the following statements is

15 @O\

Which of the following statexeents are correct
about the Constitution of India ?

Powers of the Municipalities iven

in Part IX A of the Constitutio
f__‘

are

Emergency provisions are given ' in

Part XVIII of the Constitution. 3 ga,,

Provisions related to the amendment of
the Constitution are given in Part XX of
et

28 .

Select the answer using the code given below :

the Constitution.
__——————_——‘

(a) 1land?2 only

(b) 2and 3 only

(¢) 1and3only
1,2and 3

correct as per the Constitution of India ?

e

o trade and commerce is a
State subject under the State List.

*(b)

Inter-State migration is a State subJect
R Y
under the State List.

M ‘ Inter-State quarantingd is a Umon

subject under the Union List,

%(d) l Corporatlon tax ls a State subject under
\

the State List. ™~
- Al hom g
267" Under which of the following Articles of the

Constitution of India, has the Supreme Court
of India placed the‘ Right to anach

(a) Article 15 )( v .
(b) Article 16 R

~

o

~u'

" A4y 1and 3 only

™)

(e (o) = (b

What are the duties of the Chief of Defence
Staff (CDS) as (Head )of the Department of
R ————————————

Military Affairs 7.

.~ - .

v PTnanent Chainnar:)f Chiefs of Staff

Committee _

I ——

Exercise military command over the

)(2.
three Service Chiefs

APy —— —

\_/3./ Principal Military Advisor to Defence

Minister od all tri-service matte@

. Select the correct answer using the code given
below :

(b) Lland2enly

(c) ~2-and-senly

b@/ Operations undertaken by th@ towards

A\

upliftment of the (local population| in remote
Y j

areas to include addressing of the€ basic )
— ‘——- R
" needs ¥ called :

(a) Operation Sankalp X

(b)

Operation Maitri

(¢) Article 19 X
U@ Article 21

KSPC-P-GSPO

v

({e— Operation Sadbhavana F—m“’

(d)

Operation Madad

(13-C)
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“3 @/The 1oﬁgest border between any two countries
| in

the world is between :

@ Who was the rgrovisional President}.of the
| Constituent Assembly- before - Dr. Rajendra

Prasad took over ?

Canada and the United States of

America ¥ \\\“‘w

Chile and Argentina

(0 ChinaandIndia X .

\v

ﬁ ﬁ ' . . -
@m) (d) Kazakhstan and Russian Federation )L
<1 | :
L) ‘@” Which of the following statements about the
&, l Ethics Committee lin the Lok Sabha are
correct ? '

J~ Initially it was an ad-hoc Committee.
—

v
] O a Member of the Lok Sabha can
0 () 2o

e

make a complaint relating to unethicél :

&

(a) C. Rajagopalachari %

(o) Dr. BR. Ambedkar X Fronthy

(¢ T.T.Krishnamachari X
udl Dr. Sachchidananda Sinha +t

With reference to the Government of India
Act, 1935, consider the following statements :
R

J-

It provided for the establishment of an
All India Federation based on the union
of the British Indian Provinces and
Princely States.

Defence and Foreign Affairs were kept
under the control of the federal
legislature.
pos1=

~ Which of the statements given above is/are
“correct ?

(a)
(b)
. ey Bothland2
-.y»(d) © Neither 1 nor 2

©

‘lonly
2 only

conduct of a member of the Lok Sabha.

This Committee take up any
matter which is sub-judice, -

——

S

Select the answer using the code given below ;

£

@a (a) 1and?2only
£ 1 .
a7 (b) 2 and3only e |\t
5 [
"\ land3only
i (d 1,2and3
KSPC-P-GSPO

\ ,@/ Which one of the following is a work
attributed to playwriglft Bhasa *

(8" Kavyalankara k SWW
(b) Natyashastra)( ———d—* '

l (e) 3 Madhyama-vyayog%k QMMS}-TMJ
(d) Mahabhashya )( ZAMAA'

)
@ ‘Sanghabhuti] an Indiax{ Buddhist monigwho
G travelled to (Chindy at the end of the

hah <fourth centfgx , was the author of a
t@mmentar on: b

| (@)

(b)

(c)

(d)

.

Prajnaparamita Sutra |

1

Visuddhimagga
Sarvastivada Vinaya
Lalitavistara X

(15-cC)
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Consider the _following properties included
in the World Heritage List released by
" UNESCO: -

5% Shantiniket

2. Rani-ki-Vav R .

7\3.
7;4.

Sacred Ensembles of the Hoysalas x L#™]

|
)

Mahabodhi
Bodhgaya I

Temple Coiﬂplex at

How many of the above properties were
included in 2023 ? '

—m————

\,(:ﬂ/ Only one

(b)

Only two

(¢)  Only three

«(d)  All four

v

o
per Article 368 of the Constitution of India,

9
" the Par

5

£
fd

the Constitution by way of :

,MM
)i, G

Select the correct answer using the code given
below :

\..,1/ Addition
w2~ Variation

LB/ Repeal ..
i

1

el
(a)
(b)

‘ (¢}  1and 3 only

w/l,j2 and?l

land 2 only

2 and 3 only

liament 6& Jamend any provision of '

37~ Consider the following countries :

o

v2” Japan

3.  Nigeria * W"’W\;‘"
¥  South Korea

*5. South Africa

Which of the above countries are freguentlz
mentioned in the \for their low birth
————— _—
_rates, or ageing population or declining
population ?

e —

(@) - 1,2and4

() 1,3and5 ¥
ey’ 2and4 oniy

(d) 3and5onlyX

Which of the following statements are correct
in respect of a Money Bill in the Parliament ?

\_J/ Article 109 |mentions special procedure

in respect of Money Bills.
_—

A Money Bill shall(not e introdured in
the Council of States. \ajyaSablas

i

3~ The Rajya Sabha ca approve the
Bill or suggest changes but cannot reject
. ————
it.

Amendments to a Money Bill syggested

KSPC-P-GSPO

i

j
2

For Detailed Explanation
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4.
X . by thq’Rajya Sabhg) have to be accepted
" by the Lok Sabha.
Select the answer using the code given below :
(a) -land2enly ’
2 and 3 only
[ u—"
N
d) H3-endit—

c)
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Which of the following is/are correctly

matched in terms of equivalent rank in the

&

\

three services of Indian Defence forces ?

Airforce Navy
p Air Commander
Commodore |
Air Vice Vice Admiral
Marshal
Squadron |Lieutenant
Leader” Commander
4. |Lieutenant |Group Captain
Colonel Captain
Select the correct answer using the code given
below :
(a) land 4
() - 1and3
(© 2,3and4
(d) 3only

\,@/‘ The Lorth Eastern Counc11 (NEC) was

&)

@ Consider the following statements :
Statement-I :

If the United States of America (USA) were to
default on its debt, holders of US Treasury

Bonds will not be able to exercise their claims
_

to receive payment.
bt 1’
on the f:

‘Which one of the followmg is correct in
respect t of the above statements ?

)

Statement-II :
*,\ The USA Government

any hard assets, but
Government.

backed by
ith of the

(a) Both Statement-I ‘and Statement-II are

correct and Statement-II

explains
Statement-I

(b) Both Statement-I and Statement-II are

correct, but Statement-II does no# explain
Statement-I

\Lo)/ Statement-I is correct, but Statement-II is
incorrect

(d) Statement-I is incorrect, but Statement-II
1S correct

@ Consider the following statements :

)

-~

1971. Subsequent to the amendment of NEC

Act in 2002 the- Councll comprises. which of

the 0 owmgme s ST
Y~ Governor of the ConstituentSrre

2. Chief Minister of the Constltuent State
@hree Membervs‘to be nommated by the

President of India

4" The Home Minister of India

Select the correct answer usmg the code given
below :

(a) -2-end3-only
(b) &3 anddenly

(©) @ andttmiN

established by the @orth Eastern Council Act, i

\ Stafement-I :
Syndicated lending spreads the risk of
borrower default across multlple lenders.

B

Statement-II

The syndlcated loan can be a " fixed

amount/lump sum of funds, but cannot be a
credit line.

A

Which one of the following is correct in
respect of the above statements ?

(a) Both Statement-I and Statement-II are

correct and Statement-II  explains
Statement-I :

Both Statement-I and Statement-II are

correct, but Statement-Il does not
explain Statement-I

(b)

(c)

Statement-I is correct but Statement-IT
is incorrect

(P~ 1,2,3and 4

1

KSPC-P-GSPO

(d) Statement-I is incorrect, but Statement-II

1s correct

(19=C)
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43/ Consider the following statements in respect @/Consider the following information :

of the[digital rupee § . - _

v L~ Itis a sovereign currency issued by the @) Archaeological State Description
Reserve Bank of India_(RBI) in Site | ’ '
alignment with its monetary policy. ozd ’Chandraketugarh Odisha Trading |

%~ It appears as a liability on the RBI's S\ anl}ﬁ: ' ([Port tow D
balance sheet. | J2Thamgaon Maharashtral Chalcolithic
@ It is insured against inflation by its very : .7
design. ‘
l *3. Mangadu Kerala Megalithic
Ut s | freely convertible ) against : R it
commercial bank money and cash. —
= | 4( Salihundam™, |Andhra  |Rock-cut
Which of the statements given above are - . ‘ . -
. " '|Pradesh  |cave
correct ?
O shrines
() 1land2only = ‘
(b) 1and 3 only In which of the above rows is the given
() 2and4 only ‘ information correctly matched ?
. e et
W[(d~ 1,2 and 4

e

! *
- g (b) (2 an@
Mth reference to ancient India, Gautama: () <3and4

Juddha was generally known by w}uch of the [ *
_E)llowing'gl_tglrzs)

! (d) -toand+
¥ Nayaputta NMguwa- Tk
U)/ Shakyamuni M\,\»-Buw
L3~ Tathagata n\__jw TR \ @ Who of the following rulers of medieval India

‘ ave permission to the Portuguese to build a
Select the correct answer using the code glven ‘.\X. g p

below : oﬁ_ t Bhatkal 7)) ._..

)Qa) Lenly—

v~ Krishnadevaraya MH\ w
® (2and 3 onl = ‘ —
= OH?D )((b) Narasimha Saluva

~Gautama Ruddhg v -

(d) Yusuf Adil Shah

KSPC-P-GSPO (18
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|
E

with reference to revenue collection by
Cornwallis, consider the
—

4
J/ following
Statgments :

1. Under the Ryotwari Settlement of
revenue collection, the peasants were

om revenue payment in case
w—l bad harvestsyr natural calamities.

the @ermanent Settlemeﬁ in

if the Zamindar failed to pay his |’

’ 0 thestate@@ the
xed date, he would be removed from
his Zamindari.
/——o e
Which of the statements given above is/are
correct ?
(@) 1only 7(
W 2only
© Both1and?2 )(

@  Neither 1 nor 2 )0

& -punsid?_lj.tl}lg following statements :

)U- There are@parables in Upanishads.
—_—

\2~ Upanishads were composed

the Puranas.

Which of the statements given above is/are
Correct, 9

(@) 1 only

f EE’ 2 only

(©) Both 1 and 2

@ Neither 1 nor 2

KSPC_p_GSP o

onsider the following statements :

\}/ India is a member of the International

Grains Council.

X

2. A country 0 be a mémber of the

International Grains Cduncil for

" exporting or importing rice and wheat.

Which of the $ﬁatemexits ”g.iven above is/are

correct ?

(2" 1 only

(b) * 2only
(c) Both1land?2
(d) Neither 1 nor 2

than

Which one of the following was the

inclusion in the Intangible Cultural Heritage

List of UNESCO ?

Xb)

(c) -Carbadamnce

(d) Kumbh-melay

(23-C)
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The &tal fertility ratﬂ in an economy is
1 ,

deﬁneg as.:. i

the number of children born per 1000

(a)
A

people in the population in a year. BA

the number of children born to a éouple

in their(] g in a given population.

the birth rate minus death rate.

w.
U&” the average number of [Tive erLHsl al

woman would have by the ‘end of her

child-bearing ége.

\@ Consider the following statements :

Q) Lsan \g&‘

J~"In India, Non-Banking Financial
Companies the Liquidity

Adjustment Facility window of the
Reserve Bank of India.

¥ In India, Foreign Institutional Investors
hold the Government Securities
f
(G-Secs).
A

' In India, Stock Exchanges, (ap) offer
separate trading platforms for debts.
_=-___—-’-/—-

Which of the statements given above is/are
Correct ?

(@) g and 2 oaly

) Somy-
W%, 2 and 3

(d)

2 and 3 only

For Detailed Explanation

,?y'-tln India, which of the follo'win trade in
| Corporate Bon@ and
3 .
‘ \}/ »I‘_n_,surance Companies 4~
v2 Pension Funds v~
3" Retail Investors -

Select the correct answer using the code given
below :

(a) 1and 2 only
(b; | 2 an& 3 ohly
(c)

v(@~71,2and 3

1 and 3 only

—~ ~

yConsider the following : O ’E

‘}/ Exchange-Traded Funds (ETF)

. fix Motor vehicles

\3/ Currency swap

Which of the above is/are considered financial

et
—

instruments ?° -
——-——"

(a)

1 only

(b) «2-and-3-enly-

(c) Aydandd-

(d)/ 1 and 3 only

(25-C)
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T T T R S T ET Iy

#h' reference to the sectors of the Indian
\@/Zonom% consider the following pairs : \

Economic activity Sector
Storage of agricultural |Secondary \//
produce
| Dairy farm Primary v
== o — - =
/|Mineral exploration Tertiary \~"
. |Weaving cloth ] Secondary \/’

How many of the pairs g1ven above are
correctly matched ?

(a)
(&) Only two
() Only three

&/Allfour

v ———

Only one

¥ Consider the following materials :

w” Agncultural residués

W (Corn gr%a

£ @aber treatment sludge "\ "
. |

‘f”hich of the above be used as feedstock
Pmducmg Sustamable Awg‘i?if uel ?

(a)

With reference to physical capital in Indian

economy, consider the following pairs :

Items Category
W1 Farmer’s plough Working capitalx
J2 'Computer Fixed capital v
\)( va::r ;sed by the Fixed capital X
A lietrol Working capital v}~

How many of the above pairs are correctly
matched ?

(a)  Only one

™ Only two -

(¢©)  Only three

.(d) All four

@ Which one of the following words/phrases is
@ most appropnately used to denote an

lnteroperable network . of @Vu'tual wqxlds
that can be accessed Emultaneo@ by

lmxﬂnons of users,i who 1can exert pmpe@
rights over virtual items” ?

For Detailed Explanation

land 2 only X(@)  Bigdata analytics
b
) '3 and 4 only X(b) Cryptography
Lte)” Metaverse
@
1
- »3 and 4 only %(d) Virtual matrix
“Paseg (27-C)
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/ith reference to the rule/rules 1mposed by

the followmg-

minimum  capital

e

% There .'is

requirement for wholly owned banking
———

| subsidiaries in India.
‘ For wholly owned banking subsidiaries
‘ in India, at least 50% of the board

members should be Indian nationals.

Which of the statements given above is/are

correct ?

(@) 1only

\jb)’ 2 only

() Both1and 2

@ Neither 1 nor 2

4 \@ With reference  to Corporate  Social

& R‘esponmblhty (CSR) rules in Indla, consider

the following statements +

\'1/ CSR rules specify that expenditures
> ly or its’
frd . that @ he company directly
employees Wl . considered as CSR
b ~U—4

activities.
%
U7 csr rules Ed,o not specify mlmmu_J

spending on CSR activities.

Which of the statements given above is/are
Gorrect 9

E b only

Both 1 and 2

Neither 1 nor 2

"k
,\ SPC'P~GSPO

. With reference to radioisotope thermoelectric

_generators (RTGs), consider the following

statements :
>

2. RTGs are used for powering the onboard

RTGs are‘miniature fission reactors

systems of spacecrafts.

3. RTGs can use Plutonium-238, which is
: a by-product of weapons development.

Which of the statements given above are

" correct ?

(a) 1and2only

(b) 2 and 3only

(¢) 1and3only
(d 1,2and3

@ Considgr the following statements :

Statement-I :
\Giant stars live much longer than dwarf stars.
Statement-II :

\'C?)'mpared to dwarf stars, giant stars have a
greater rate of nuclear reactions. ’

Which one of the following is correct in
respect of the above statements ?

‘) Both Statement-I and' Statément-II are

correct —and: Statement-II explains

Statement-I -
(b) Both Statement-I and Statement-II are

but - Statement-II does
explain Statement-I

correct, not

(c) Statement-I is correct, but Statement-II
is incorrect

(d) Statement-I is incorrect, but Statement-II
is correct

(29-C)
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eo,-ganism @ 'D'Consider the following statements regarding
\ 7

Th

@ (ater) ar€ - S . World Toilet Organization :
@(a) BirdsX 1. It is one of the agencies -of the United
- L ool

Flsh)( Nations.

\(c) Insects )‘I : 2., World Toilet Summit, World Toilet Day
1 S 74 and World Toilet College are the
\/‘Yf Hepties _initiatives of this organization, to

inspire action to tackle the global

" consider the following statements : sanitation crisis:

Satement-I : : The main focus of its function is to grant
4 i found i gr
_ Man' che;v = 10MA ;n the _g_lgrﬁ_are funds to the least developed countries
w{flgier"'l: 2__gouree o ewaL i - and developing countries to achieve the
= end of open defecation. - — ————
tatement-II.: ) ) Whlch of the statements given above is/are
Many chewing gums contain plastic as gum correct ?
base. _
. . a) éonl-y
Which one of the following is correct in ( :
respect of the above statements ? v M 3 only
U& Both Statement-I and Statement-II are|l| = (¢) <d-and2
correct and Statement-II  explains| ~
Statement-I $TREF
) Both Statement-I and Statement-II are
correct, but Statement-II does not explain & ; - 3 .
Stabement-l \@ Consider the following statements :
© Statement-1 is correct, but Statement-II is TL @V Lions do not have a particular breeding
tomret  season. ’
@ Statement-I is incorrect, but Statement-II ' B {
3 is corf:::;l ls_ e . |~ 2 Unlike most other big cats, cheetahs do
l?‘ﬂ @ N ; ' = not roar. .
e ‘Usider the following pairs : i ik'?\r . . Unlike male lions, male leopards do not
E Anlmal foun n its A . . ¢
il S e el | B e i T
y\. Indri d.ﬂ_- )
_ Ellﬁ e ; Which of the statements given above are
'M"’/ ' correct? -
H‘;‘r" many of the pairs given above are WUa» "1 and '2'“0nly
ectl ?
@ ¥y matched ? )
1 ) Only one ©
- Only two ©) +end3oenly
, & All three , | (d 1,2and3
', KSPQ-.NQM 43-6)
‘ Paspg (
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consider the following airports :

0

y Donyi Polo Airport

%
\}/ Vijayawada International Airport.

Kushinagar Internationa] Airport

| [ the recent past, which of the above have
% peen constructed as Greenfield projects ?

(@ 1land 2only
¢ 2and3only
© 1land 3 only

@ 1,2and3

Y Wxth reference tE‘%Nater vapoua which of the
?
following statements is/are correct ?

W It is a gas, the amount of which
decreases with altitude.

S——

¢ Its percentage is maximum at the poles

Select the answer using the code given below :

U™ 1 only

® 2 only

©)  Both 1and 2 B e
@  Neither 1 nor 2

& @400113ider the following description :
S
- )1 Annual and daily range of temperatures

& v

Precipitation occurs throughout the year.

Precipitation varies between
50 cm — 250 cm.

sy =

A

What is this type of climate ?

ey Equatorial climate
(by
(©)

China type climate
Humid subtropical climate e

hy

U @ With reference to “Coriolis force”, which of the

following statements is/are correct ?

B lti Increases with i increase in wind veloc1ty

It 1—t the 65163 nd is absent

at the equator.
Select the answer using the code given below :

(a) 1lonly:
(b) 2 only

\(c> Both1and2
(d) Neither 1 nor 2

St Satishice Topic ¢ F Comcen

= @ P@@kﬁ\s@/ On\June 21 every year,|which of the following
Lokt latitude(s) experience(s) a sunlight of more

than 12 hours ?

1..  Equator )(
L2~

3.
A

Select the correct answer using the code given
below : -

(a) ~F-only
(b) 2only
(c) <B-and4—
Ud)” 2and 4

N o~ta ‘vo\g i

" Trupte of
Tropic of Cancer (D&kLLL
Tropic of 'Capricorn 7(

Arctlc Circle

L4

\.

One of the f;olloigvin regions has the world’s
%ﬂgtzst tropical peatland,\which holds about

hree years worth of global carbon emissions

from fossil fuels, and the | p0551ble destruction
of which can etnmental eﬁ‘ect on the
global chmate Which one of the one of the following
denotes that region ?

Uay” Amazon Basin

| (b) Congo Basin P"
(¢) Kikori Basin *

@) K

Marine West coast climate 7

K&PQP (37
‘ -Gspg

For Detailed Explanation

(d) Rio de la Plata Basin »
—-C)
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\@/Gmﬁder i fOI.IOWing statements - /TLQANQ,?/ Consider the following :
mtement'l; . LI @ l . f L
‘P ¢ atmosphere is heateq , = , “eeclasticdabrls :

Th e by incomin '
glar radiation than by terrextez] radiation. i %" Ash and dust —
e .

oment-II - \37" Nitrogen compounds «— Poogita
‘ N .
‘/?:rbon dioxide and other greenhouse gases | A" Sulphur compounds \_~  Preast o
{fe atmosphere areZgo d aBSorber§ o@ How many of the above are d
. od products of
t i pr—— ﬁ
I W@ = (volcanic eruptions 7|
Which one of the following is correct in (a) Only one

respect of the above statements ?

(b)  Only two
(a) Both Statement-I and Statement-II are (c)  Only three
correct and  Statement-II  explains
Statement-I U@ All four |

(b) Both Statement-I and Statémen‘c-II are

correct, but Statement-II does not . . .
o } f
explain Statement . | Which of  the ollow1pg is/are correct

T ' inference/inferences from isothermal maps in
() Statement-I is correct, but Statement-II - 0
sincortect the month of January °
AN & Statement-I is incorrect, but Statement-II|} 1. The isotherms deviate to the north over
- P the ocean and to the south over the
continent.
'7 ‘ 2. The presence of cold ocean currents,
Sl Consider the following statements : Gulf Stream and North Atlantic Drift
ad | State I A make the North Atlantic Ocean colder
3 ment-1I : .
. : e d-th
e e ‘ vﬂtkness of the(froposphere|at the_equator is i an e isotherms bend towards | the
luch greater as compared to poles. north.
_—— e _— . .
Waterment _ Select the answer using the code given below :
nt-I1 ;
At th heat is transported to great (a) 1lonly
beights by strong cw (b) 2only
Which one of the following is correct in | (c) Both1and?2
'eSpect of the above statements ? (d) Neither 1 nor 2
W Both Statement-I and Statement'n1 axe
correct and Statement-II  explains .
Statement-I @ Which of the following countries are well
@ b ®) Both § ‘ t.I and Statement-II are known as theargest -cocoa_producers in
correct tat,s::en Statement-II  does not the world ?
eXplair; Statement-1 = (a) Algeria and 5666
(¢) Statement-I is correct, put Statement- (b)  Botswana and Namibia%
is incorrect - Uer Céte d’Ivoire and Ghana ¥
(Q) St P ect, but Statement- .
Statement-I is incorrect (d) Madagascar and Mozambiques
Ky 1S correct

“ : 1-C !
“P.aspo (41-¢) _ @ %S N.,.‘j\\bw
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~

with reference to the Himalayapn - rivers
joining the Ganga downstream of Prayagraj
from West to East, which one of

the following
sequences 1s correct ? '

\
\

(a) Ghaghara — Gomat;j -- Gandak { Kosi &
(b Gomati — Ghaghara — Gandak — Kosi
(0 Ghaghara — Gomati — Kosi

(d Gomati— Ghaghara — Kosi Gandak

@ Consider the following statements :

‘/Statement-l :

Rainfall is one of the reasons for weathe

ring
of rocks.

——

tement-II :
Rain water contains in
solution.

Statement-111 :
Rain water contains atmospheric oxygen.

Which one of the following is correct in
respect of the above statements ?

| (3 Both Statement-II and Statement—I.II

-are correct and both of them explain
Statement-I - s ‘
Both Statement-II and Statement-IIIL |
are correct, but only one of ‘them
explains Statement-I '
~Only one of the Statemments 1I and III is

) correct and that explains Statement-I

@ i\ieither Statement-II nor Statement-TII

" is correct 4

(b)

(e) -

: ® Consider the following countries :
L Finland ¥~ '

2. German \ el

3. _ Norwayv~".

“ R'{‘l.ssia)d v~

How ‘many of the above countries Dave &
border with the ,
(a)

Only one

Only three
All four

k
%PQ'p‘GSPO

(43-C)

(@@ider the following information :

Waterfall Region ° |River 7
(v
.V |Dhuandhar |[Malwa |Narmada o~
2. |Hundru Chota Subarnarekha
Nagpur ' '
— e
\_X’ ersoppa Western |Netravatr
%ﬁk'ﬂhats —

In how many of the above rows is the given
information correctly matched ?

_ &,(»d’)/ Only one
(b)  Only two
(c) " All three
(d) - None

100. Consider the f'ollowing information :

Regiqn Name of the | Type of
mountain mountain
range

)<1. Central |Vosges Fold mountain

Asia

U2 ‘Europe Alps Block
‘ mountain
76 North Appalachians |Fold mountain
America
U ﬂﬁ;):th. Andes Fold mountaiﬂ
erica :

In how many of the above rows is the given
information correctly matched ?

(a)
(b)
()
(d

Only one

Only two
Only three
All four
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